Notes - Finding all Outcomes Name: \.("-

Tree Diagrams, Lists, Area Models, FCP

Sample Space - The set of all possible outcomes of a probability experiment.

Use the different methods to find the sample space and the total number of outcomes.
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Use any method above to model the sample space and determine the number of outcomes.
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Practice - Finding all Outcomes Name:
Tree Diagrams, Lists, Area Models, FCP

Use any method to model the sample space and determine the number of outcomes for

each event. - yoan?
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3. Rachel is flipping a coin and then spinning a
spinner with the colors red, blue, green and Red Bl (’ﬂ‘tcr\ \\/C \mw
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What is the probability that she will flip heads . ;
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5. Ricky is rolling a fair number cube (1-6) and 5 O 15 20

then spinning a spinner with the numbers 5, 10,
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